
D	Sheldon

A																		B
			A	plays	the	
			original	melody.																														After	a	2	bar	delay,	B	begins	to	copy,	from	the	start,
																																																													exactly	the	pattern	of	movements	made	by	A
																																																																...giving	an	entirely	new	second	melody
																																																																					to	complete	the	duet.	

A	Curious	Duet
2bardelay

When	keyboards	face	each	other,
every	key	gives	a	different	note	from	the	one	opposite.	

All	except	the	D	key	in	the	middle.
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